NHcTpykuma no cbopke KposaTtn Paola
C NOABEMHbLIM MEXAHN3MOM

w M6x40

S

6 wr.x M6x60 M6x40 M6x20 4WT. — 8WT 2wt
2 WT. 24 WT.x%* 32 LUT.#%x*

* 4 WT. Nnpu WwWupwHe 80 cMm.

*+ 8 WT. npy wupuHe 80 cMm.

*+% 22 WT. Npy wupuHe 80 cm.
*%kx 26 LWT. Npy WnpuHe 80 cM.

®ypHUTYpa ANs YCTAHOBKW NOABEMHOIO MEXaHU3ma

M8x45 M8x60
. 4 wT

M8x45 M6x20
4wt 8wt

2 wt.* 4 WwT.

* Mpw wupmrHe kposaTtn 90 cM. 1 Gonblue.
Mpwn wupwuHe 80 cM. He ycTaHaBnMBaeTCs.

4

* [Mpun wupwuHe kposaTtn 90 cm. n BonbLue.

Mpw wupwuHe 80 cM. He ycTaHaBnMBaeTcs.







